Name::

Score:

c

\

.

Area=7?

. . Difficult: S1
oncentric Circle - Area
Area of shaded region = ( Area of outer circle ) - ( Area of inner circle)
=nR?- i
=m(R*-1?)

=3.14x(2.25%-1.82%)
=3.14x(5.0625 - 3.3124)
=5.50 m?

J

Find the area of each shaded region. Round the answer to two decimal places. (use n=3.14)

1)

2)

3)

Printable Math Worksheets @ www.mathworksheets4kids.com




Name::

Score:

c

\

oncentric Circle - Are9

N\ Difficult: S2

.

Area=7?

Area of shaded region = ( Area of outer circle ) - ( Area of inner circle)

=nR?- i

=m(R*-1?)
=3.14x(2.25*-1.82%)
=3.14x(5.0625-3.3124)

=5.50 m?
J

Find the area of each shaded region. Round the answer to two decimal places. ( use n=3.14)

1)

2)

3)
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Name: Score:

@oncentric Circle - Are@ Difficult: S3

Area of shaded region = ( Area of outer circle ) - ( Area of inner circle)
=nR*-nr’
=m(R*-1?)
=3.14x(2.25*-1.82%)
=3.14x(5.0625-3.3124)

_ 2
\_ Area=7? =5.50m J

Find the area of each shaded region. Round the answer to two decimal places. (use n=3.14)

Area = Area = Area = i
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Name: Answer Key Score:

é N\ Difficult: S1

\oncentrlc Circle - Are9

Area of shaded region = ( Area of outer circle ) - ( Area of inner circle)
=nR*-nr’
=m(R*-1?)
=3.14x(2.25*-1.82%)
=3.14x(5.0625-3.3124)
\_ Area=7? =5.50 m* J

Find the area of each shaded region. Round the answer to two decimal places. (use n=3.14)

1) 2) 3)

Area = {764.80 cm?! Area=} 57.12ft* | Area=| 35.31in* |
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Name: Answer Key Score:

é N\ Difficult: S2

\oncentrlc Circle - Are9

Area of shaded region = ( Area of outer circle ) - ( Area of inner circle)
=nR*-nr’
=m(R*-1?)
=3.14x(2.25*-1.82%)
=3.14x(5.0625-3.3124)
\_ Area=7? =5.50 m* J

Find the area of each shaded region. Round the answer to two decimal places. (use n=3.14)

1) 2) 3)

Area=: 18.49ft* | Area=| 60.76ft* | Area= ' 3531 cm? |

Area=i 57.31m? |

Area=} 47.29in” |
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Name::

Answer Key Score:

é N\ Difficult: S3

\oncentrlc Circle - Are9

Area of shaded region = ( Area of outer circle ) - ( Area of inner circle)
=nR*-nr’
=m(R*-1?)
=3.14x(2.25*-1.82%)
=3.14x(5.0625-3.3124)

\_ Area=7? =5.50 m* J
Find the area of each shaded region. Round the answer to two decimal places. (use n=3.14)
3)
Area= 77.95ft’
6)
7) 8) 9)

Area = i

Area = i
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